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GENERAL INSTRUCTIONS

1. There are two parts (A and B) in this paper. All candidates should attempt Part’A. In Part B, you
should attempt either Part B1 (easier section) OR Part B2 (more difficult section). Candidates
attempting Parts A and B2 will be able to attain the full range of levels, while Level 4 will be the
highest level attainable for candidates attempting Parts A and B1.

2. Write your name, class and class number in the spaces provided in the Question-Answer Book.

3. Write your answers clearly and neatly in the spaces.provided in this Question-Answer Book.

Answers written in the margins will not be marked:

4. For multiple-choice questions, you are advised to blacken the appropriate circle with a pencil so
that wrong marks can be completely erasedwith a clean rubber. Mark only ONE answer to each

question. Two or more answers will’score NO MARKS.

5. Supplementary answer sheets will be supplied on request. Write your name, class and class

number on each sheet.

INSTRUCTIONS FOR PART A

1. Attempt ALL ‘questions in Part A. Each question carries ONE mark unless otherwise stated.

Teacher’s Use Only
Part Marks
A 44
BI n
B2 42
Total l
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ENGLISH LANGUAGE A
PAPER 1 PART A
QUESTION-ANSWER BOOK COMPULSORY

PART A
Read Text 1 and answer questions 1-20. (44 marks)
1. Whatlis technology compared to in paragraph 17

Ve oo

~

\ O

nealtih / paneu

2. ( What/economic impact of new technology is mentioned in paragraph 17

b ps5es

3. According to paragraph 1, the effects of new technology in recent years have been ...

A. negligible.

B. enormous.
C. problematic. X A B C
D. strictly positivey O ® O

4. i)  Read paragraph 2 and answer by completing the sentence below. Use ONE word only for each blank.

Make sure your answers are grammatically correct. Pay attention to word forms, plurals, etc.

D
O

(2 marks)

“PIdBW 3q JOU [[1As SUISIEW OY} Ul USJILIM SIOMSUY

According to Maria Leung, experiencing the world through Internet-connected devices is new, which

means its risks are (i) _(C-\Wn !( new |/\\ , so we should feel (ii) __Cricerin ;c\ :

A.

B.
£.
D.

Wovrie d

i) What is the writer’s take on this opinion, based on paragraph 27 (I mark)

Thewriter agrees that there are threats.
The writer thinks people know the risks. i1 Fyiei osks

, \ , . A B C
The writer agrees completely with Leung’s opinion. @ O O

The writer disagre’eé é/ompletrely with Leung’s opinion.

5.  Find a word that means ‘ariéés’ in paragraph 4.

D
O

S e/,

e A A
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What are the pros and cons of TV and video games, according to Mok? Complete the table below. Use ONE word only

‘POdIRI 9q JOU [[IM SUISIEW SU} Ul USHLIM SIOMSUY

for each blank. (Hyphenated words count as one word). (5 marks)
Pros (TYe) Cons |—vE )
ix R > -
enriching people’s lives with (i) ¢ TS j( LC (ii) \ NN (Ing  the quality of content with
TV e v
and informative content meaningless Visualjstimulation
- helping people build (ii) S blewn = solving
Video and motor skills ” J making people more (V) gg d.@iﬂ { QA [(_/] and
games | - allow1p_g people to (iv) I (ﬂ\% , isolated
socialize and bond
(2 marks)
i)  Why does spending a lot of time on TV or video games make people feel bored, according to Leung?
Recomie  Hre et STWVU«‘ J( hﬂ/‘) ne,u ple. Mt e more H/u»g’
Wl su H/\suj c\lum/f farl” pyceatisfied

i) What' counter—argument does the writer offér to Leung’s concern in paragraph 6?
The Sows  recearch Ghons ol pecpte phne Spe,mol An_hanr / o
0 Q\J}\/v so_euter TRimont  feo anaH’ﬂ Tlm/m fhage 1Whao ds net.
"N ) - ) (2 marks)
i)  According to the writer, what kind of technology is at least as distracting as TV and video games?
M odevn  csmimum calivy / texts  eppoils and i, us sA4es
SRS Rnd [ op TIPS
ii)  Whatattitude'do people have towards this technology"

What do the following refer to in paragraph 77
them (line 28)

)

ii) my company’s product (line 30)

A;  “dissatisfaction
B enthusiasm
C.  acceptance
s ,

anxiety

O»
Ow
Yo
O

(2 marks)

{/\A’n‘r_\l Q/AAP (\S

focl pnd o

M&agl%_ﬁtm
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!

10.  Which of the following locations does Leah Wong mention as possibilities for remote work? Tick TWO of the boxes.
/ (2 marks)
vV one’s own home ' /- ) a public library a shared workspace
a coffee shop an inexpensive city - IE a vacation destination
11.  Besides working remotely, ‘hqw;elsg) can workers take advantage of communication technology?
ch'\dnjz w%egm/\ lowr Y/\é\/\/(é
e g&
~12.) What are the ‘down51des (lme 33) described in paragraph 8? (2 marks)
— 3 pe WAless  communicatins /. denli CEEN A wanece s proelings pund en s
if) werk C\ﬂomg nte Hee Fime/ ncm‘e are 0\[1/\/«Nz{{( M fira r!ock
f" 13. 1 i)  Explain in your own words how videocoériléerencing software could make'it ... (2 marks)

(] mak)_The *ﬂwu\omj Rl hae ’DU’CQmT(AI ﬁw hith aomteames

(I mark) Pu\‘w\e Com ¢ o a7 e uth tn wich J(/éc[/mulomx} (S tlﬂemﬁwﬁ.

14.

[ 15

\_/

- ‘easier ... to take vacations’ (line 39).

%mt con leave the anM oudst L aftend ma_r\«ms [ wark

- ‘harder to enjoy them’ (lme;% maet g s

ndead 5@ V)&N Gee while s \/melm Dﬁm\? m0w still pttend A

i)  What is the writer’s opinion on these two possible outcomes? (2 marks)

Complete the summary below using information given in paragraph 10. Use ONE word only for each blank. Make sure

e painEs L8 HER

your answers are grammatically correct. (6 marks)
Social media can have a negative influence on people’s (i) Ing !/\‘TO\ \ well-being, and because it can
affect (ii) WV\ \/ J r people at once, it has an impact on (iii) So c \ E'TM as a whole. In

the worst cases it may cause widespread (iv) D m)lo lems when people become increasingly

) \\j ((‘LQ,Ql , as begin to (vi) | ]/\ ate and distrust each other.

Answer the following questions based on paragraph 11. (2 marks)

i)  What change must be made to social media to spread ‘useful knowledge instead of fake news’ (line 48)?

CMMWX Hg algd\rxﬂ/\n/\ (Hed  decides what ts shad LM)

ii) What is one advantage mentloned of spreadmg useful knowledge online?

1+ allows 760\)3’6 to ey hetiey (V\'eryww,'l aboad an]%ﬁow\"t
(SSNUS
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8

2 marks
16. 1)  Whatkinds of services can a healthcare provider offer online? ( )

ll’\D.VD\I‘?Uj pand_ 19 hacen Conswl T ins

ii) Why might someone go online for such a service even if it is available Jocally?

The [ecal Seyvwice s Tt ex'r)emsiv&‘ anling sevvice 1 Ent

[’}L CM)QV

17. What drawback of technology is mentioned in paragraph 13?
identity theft

emotional detachment

A

B. Internet scams
C A B C D
D. lower quality of service O O @ O

18. Determine whether the following statements are True, False, or if the information is Not Given in paragraphs 13 and

14. (3 marks)
T F NG
i)  Online competition is likely to lower the number of teaching jobs overall. O O @
ii) The writer thinks people should not depend onphones to do maths. O O @
iii) People have replaced old writing skills with new ones. m O O

2 marks
19. i)  According to the writer, what does our reliance on technology demonstrate about technology? ( /

We o r\oi‘vev\AmT' ot he cpunse ol heefnl.

ii) How does the writer show that reliance on technology is not new or frightening?

e W}Ieg P vehicles amd indovy plu\m\f(r\f

20. What is the writer’s overall view of modern technology?
A. While it has many drawbacks, we simply cannot avoid it in life.

The problems are real but they will resolve themselves naturally.

O»
Ow
&0
Qo

B
C. It has dangers, but we can choose to embrace its more useful aspects,
D

Though it has drawbacks, its critics are ultimately being unreasonable.

sA END OF PART A

"PayIBW 9 JOU [[IAA SUISIBW S} Ul USLIM SISMSUY



B1

EASY
SECTION

PART B1

GENERAL INSTRUCTIONS

1. Refer to the General Instructions on Page 1 of the Question-Answer Book.

INSTRUCTIONS FOR PART B1

1. Candidates who choose Part B1 should attempt-all questions in this part. Each question carries ONE mark unless

otherwise stated.

S - %ﬁ’\
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Part B1

Bl

EASY SECTION

24.

25:

22.

23.

26.

27.

28.

Read Text 2 and answer questions 21-39. (37 marks)
21.

What is the writer’s purpose of writing Text 27

v —k}k\\)\%—\jn 4o resdove \/\A’\D\J‘ C(ﬂ ~\S

What is the primary purpose of 5G? Answer by completing the sentence below.

5G is for using the internet on Ce \ (YA (0\V / Ceol \ l")\/\ oS

What does the ‘G’ in ‘5G’ stand for?

AR lelion

According to paragraph 2, what is the fastest speed of 4G?

! m}]ﬁ}&\\oiﬁ’-f Der  Remd /61&;;7%

According to paragraph 2, 5G technology ...

A. will never reach its expected maximum speed.

B. has already reached its expected maximum speed,

C. will be used all over the world within the.next10 years.
D

had not been completely developed at the time of writing.

O»
Ow

Which of the following is NOT cortect, according to paragraph 37

A. Allradio frequencies have the same wave length but different energy levels.
B. Mobile phones use different frequencies to send and receive data.

C. Messages sent using the exact same frequency will be jumbled up.

D. Mobile phones connect to the Internet using radio waves. % g

According to paragraph 4, what is a ‘band’ (line 16)?

On

Oo

&uU

Qu

A_qrmap 0"€ 'Eaeammcle( I Th wecn[(c DMPGYTLOQ pndses
/\ /\3{‘ /\,/\3 WJ‘Q % *?PW €3 «.{) J/\ WI o) R:fr S amd A .\’f:Tf"ff*Cn’L WER S
According to paragraph 4, what is the advantage of ... (2 marks)

i)  low-frequency radio waves?

<xcel el Cm/*emg;pv

ii) | high-frequency radio waves?

‘PQ(‘UZ v S‘DE.Q_AS

BEEABRER 20 EI R
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32.

29.

30.

31.

Find words in paragraphs 4 and 5 that have a similar meaning to the following:

i) range S \RQC 1 yn
ii) go through P erats
iii) obtains eCineen=¢

Complete the sentence below by choosing the best option for each blank.

The mid-band spectrum is 4G’s __ (i)  band and 5G’s __ (i) _ band.

i) A. fastest
B. slowest
C.  least common
D. most common
i) A. fastest
B. slowest
C.  least common
D. most common

@

A
O

B
O

(3 marks)

(2 marks)

Oa
Ouo

On
(S lw)

Determine whether the following statements are True, False, or if the information is Not Given in paragraphs S5 and 6.

Blacken ONE circle only for each statement.

T~

i)  5G’s advantage over 4G 1s en:?frglyf due to its use of higher frequencies.

ii) The reason high-band waves do not travel far is because of walls in the way.

iii) Implementing 5G Tequires a lot of cellular stations to be built.

T
O
O

®

iv) High-band cellular stations in Hong Kong are cheaper because they are smaller. (O

Where'will 5G not make use of each of the following? Answer by completing the table below.

OO0 & 8® =

(4 marks)
NG
O
O
O
®

(4 marks)

Location not being used

Reason

Low-band frequencies | (i) S o tes

(i) Lo slew

High-band frequencies | (iii) VAAY m\ oIt

X

being sparsely populated means they are

not (iv) _ Cost — Q'Fft ct we

Wov T

Qo g

BBEHBBEER, W

...... E (_—_',E,E\
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33.

34,

AEERBRER,

D
@

Qo

O o

Qo

oo

Paragraph 7 contains an example of ...
A. irony.
B. simile.
C. metaphor. A B C
D. arhetorical question.”” '/ O O ©
Complete the summary below by selecting the best options, based on the information in paragraphs 7. (4 marks)
Some__ (i)___broadband plans advertise Internet speeds at 100 Mbps, or lower through — (i), which is
the same as the fastest speed of low-band frequencies. Compared to this, (i), Internet seems very fast.
Add in the fact that it is available ___ (iv)__, and it starts to look like a very/attractive alternative.
i) A, free
B.  domestic
C.  corporate A B C
D. government O @ O
i) A. Wi-Fi
B.  broadband
C.  copper wires ( o A B C
D. fibre-optic cables O O ®
iif) A.  5G
B. Wi-Fi
C.  broadband
, A B C
D. * :fibre-optic cables @ O O
vi) A, more reliably
B.  for less money
C.  throughout the city A B C
D.  atthe highest speeds O O ®
pod AR == o

"Pa)IewW 2q JOU [[IM SUISIBUI oU} Ul USHIIM SISMSUY




A. after
B. Dbefore
C. because
D

at the same time

36. i)

35.  According to paragraph 8, 5G will be used in smartphones

device mentioned in paragraph 8 below each picture.

P

pearide-roa [th

it will be used in other applications.

A B C D
O ® O O

What kind of ‘Internet-connected devices’ (line 41) could the following represent in the future? Write a type of

(3 marks)

Snast o appl(&nces

self 'dv'\vlep Core

"PIYTRW 9q JOU [[1A SUISIEW SUJ UI USPILIM SIOMSUY

It hand les {argevolume o d

Pabw  Hoxg
ii)  Which of the above would not be possible without 5G? (1 mark)
ol f ﬂ&riv"n}r Corg
iii) How does 5G make it possible? (1 mark)

lata )\Oﬂ\}/\\rﬁ& to ao:f“ﬁ ‘)CIH A

Pec?,a strpans

A. providing healthcare servrceS\/ sick

m —t
N C

B. _facilitating manufacturing

D de51g}<ung robots
NS

(

38. What is the writer;uncerrdin about 1n paragraph 9?
A. what 5G’s uses will be
B. how well 5G v;}ll work
C. whether 5G will have many uses
D

whether 5G’s uses will be positive

2

(‘Ih{\) /| ,am,t \/rluvme(n*@ data ref,;ox\rok«ﬂaj

!n'”"

< RV W2

C monltormg air quality "¢/ " A

11')03 Tm\ ) vgeloc‘\ FJ owad

37. Which of the following is NOT a use of Intemet—connected devices mentroned in paragraph 9"

+ % s
Stotm ¢

Oks
Ow
Oao
),

&>
Ow
Oo
Oo

"PODIBLL 9q JOU [[IM SUIBIEW oy} Ul USPLIM SIOMSUY

|

o |
| —-—

s
G

Ik

RERGERER, T
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39.

40.

41.
42.
43.
44,

B
- C. nev‘é report
D

L ¢
What are the two things on which people must ‘spend extra’ (line-48) to experience 5G? Answer by using information

give in paragraph 1. (2 marks)

i) JP‘/\LWZ&
i) _ SeN/1Q 0 bung

Read Text 3 and answer questions 40-44. (5 marks)

The Ultra 4°s target customers are likely to be people who ...
A.  play games a lot on their phones.

live somewhere,ggtsri_a_g of Hong Kong.

»
Ow
Oo
Ou

B
C. use their phone primarily for phone calls.
D. rely on their phones to run their businesses.

How many Ultra phone models do NOT have 5G?

hireg

In what way is the Ultra 4 better than other 5G-phones in Hong Kong?

t has M st & }ﬁrv(,essov

What does Text 3 compare the! speed of 5G to?

!@\/Aln{’hma) L Ondg|

What kind ‘(\)f text is Text 3?
A, forum/di/scussion

advertisement

oks
o
Oa
Ouo

proposal

aBemanER L6 - HOB END OF PART BI




B2

DIFFICULT
SECTION

PART B2

GENERAL INSTRUCTIONS

‘1. Refer to the General Instructions on Page 1 of the Question-Answer Book.

INSTRUCTIONS FOR PART B2

1. Candidates who choose Part B2 should attempt all questions in this part. Each question carries ONE mark unless

otherwise stated.

S - A?://%’\
BEEABKRER, LW E]=!
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B2

B

46.

47.

48.

49.

50.

DIFFICULT
SECTION
Read Text 4 and answer questions 45-65. (42 marks)
45.  What is the basis of Law’s ... (2 marks)
) career? _ia IT'& /4 4\ orel<

ii) fame?

By what process was Text 4 produced?

A.  writing based on the writer’s research

B. interviewing Law and transcribing her words
C.  writing based on a public statement from Law
D

collecting and arranging public statements from Law

U"l‘\"lc'\)_}jl/\:g ‘HA_Q +Q((/\

WA (‘\4 AST t\?’L/}3

O
S
O

)

According to paragraphs 2 and 3, Law’s and the public’s opinion on.social media companies have ...

A. diverged.
B. converged.
C. always differed.

D. always been the same.

' According to Law, social media promotes opinions that are ...

A. intense.
B. incorrect.
C. dishonest.
D.

unconvincing.

What causes people’s opinions on social media to change?

Oao
Ou

A B
O @

Sk
Ow
O

o)~

ConunslZ® . Se MALACeS

Complete the table below about the alternatives that already exist to perform the functions of social media using

information from paragraph 5. You may use more than one word for some blanks.

(4 marks)

Personal uses of social media

Alternatives to social media

@) \cw\air\v .

with friends

(i)

W\Wg

making (iii) friends

w_ Nu 17)7\/ st clwbs
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51. Answer the following questions based on information given in paragraph 7. (3 marks)
1) What is social media replacing?
- an industry: ’Dh—(—eﬂg\mﬁ\( ;\MV\AHSM
- a personal activity: V\Bﬂj nx% aal
ii) Regarding the personal change, what is the activity being replaced with?
sty o hame  <haring  memis  ond  \ideos  p gk
J )
52. i)  What is the meaning of an ‘art form’ (line ZZiéccordmg to Law? (3 marks)
7~ {e[ t&UL Qi ?MDYQSS‘M
ii) Does Law agree that memes are an art form? Why or why not? )
No . sha thawnls J(N/v> ore o Ciw P) STIC g domb doen debnlef
iif) Is Law absolutely certain of her opinion? Why or why not?
Noo sho jait. Some of horfammtest Hipnds Yanke merss ot
dwn (wt
53.  Complete the summary below of Law’s opinion,-Use ONE word only for each blank. All of the words can be found in
paragraph 9. (4 marks)
Using memes is not the same as coming up with something (i) GY“ g LNA \\ to express, and a quick
look at any social media (ii) t \YYLQ ‘ WL is proof enough, as conversations there are always highly
(iii) Y‘Qpetit\\/e/ . Past-intellectuals have warned us about the danger of (vi) Cl 1c l/\_S). S
54.  In which paragraph does Law actually answer the question in paragraph 4?
‘ilmmg @ n 10
55.  Answer the following questions based on paragraphs 3, 5 and 10.
i) " In what way does social media radicalize people? (1 mark)
P(NM _poste Gy { mae  inteaction  including liles, shares ond
O@V\W/\/\ﬁ g0 Pl sg LESAS 2§ %,u’f gqlw«b\A M e
ii)  Which function of social medla gets affected by radicalization? How does it get affected? (2 marks)
Secial _mediS plpili ZIEON \a—w béw‘w(&, ifmed b Cyread inp ney
annd [‘thlld D&N(L ol 13(1/&@\ ovng w5 amiza _adsvn «QAC‘F;loxl \SS\A}LS
pet O\wdwte( h,l ag elector)  Comdidalle viunm (W\ /QYnlh . The
[/\gfrec\ @»-V\O.W\'taé V.
..... e Ll
2 SR B

2021 _S6_ENG l_TlASQQ&ABOOK_P. 14
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a8

56.

57.

58.

59.

60.

w maRER X8

iii) As implied by Law, why do social media companies not put a stop to the radicalization? (1 mark)

Thay make M»QA/\JW\J having nere, Intprrction enling ANl
‘15/ Wm%p{“m/os‘t P%Prjc)m\flt\/t) 7 Mapem

o/

What do the following phrases refer to? (2 marks)

i)  ‘the little ones in our pockets’ (line 43)

%mm‘f’hl/)umc el pMWs/ i 1o (/)I/lmx

ii) ‘a global network that lets people send each other texts and images and other media’ (lines 43-44)

o Dilernos

What is a ‘Luddite’ (line 45)?

SO e kelectz, [dees pbrusc kﬁwf’loﬁ)\ﬁ o Al

i)  What does Law think of the ‘basic technology’ (line43)? (1 mark)
H on b 0sd pwdmofwg@}‘RW‘cww%m{@xfmm ond creativif

ii) What examples does she give to support-her argument? (2 marks)
Shy_unses it fo SR s and o See wlt*/umz\'S whe use
£ e Shew Hadly ot

i)  Inwhat paragraph does Law answer the first question in paragraph 11? (1 mark)

?m&g@qh E

ii)  Law grounds her answer in ... (1 mark)
A. Zobservable evidence
logical reasoning

B
C."  expert opinion
D

A B C D
gut instinct t@ O O O
What is the meaning of ‘virtually’ in line 51?
A. completely
B. almost
C. fairly A B C D
D. not O @ O O

"PdJBW 3q 10U [[IM SUISIRW OTUT USNLIM SIOMSUY
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61.

62.

63.

64.

65.

i)  What is Law’s answer to the second question in paragraph 11? (1 mark)
1 s oo il amad Sipey ficial {AVAPP Lnpsg
ii) Why does she consider this a bad thing for social media .. (2 marks)
-  creators? Hl Dv\‘h D)’ﬁs st on Hewn ‘(‘\7 \pe DP/r "1[‘30:(:-
~  consumers _|1 KM-% I/‘Ct (‘/l/\a»”angg/ Hum /melf)s Pheir VNV}AS
What does ‘gets under my skin’ (line 62) mean?
A. hurts me
B. bothers me
3 A B C D
C. interests me
. O @ 0 O [
D. motivates me g
g
2
Why does Law emphasize the inability of tech companies to solve major social issues in paragraph 16? ;
tresc Hud peorte’ foitth  paiidech Lomponi ks o< yillent  |E
proboleim- sulnele Tig ;m'tstwd £
Find a word in paragraph 17 that has a similar meaning to ‘insidious’ in line 50. =
Sumster ;:’;
g
5
How do Law’s feelings about tech companies differ from her feelings about fans of these companies? Explain why she [~
feels this way. @ (2 marks)
S h J\/t lvu o \co\\ D/—@/ -@U&lg VY 2% ’bsm/\\/cb ec|/\ QMDMH&;
e cownsk JHMA; wnlor’r Dﬁond e \':'tl‘{we n W bor 7)Wt£ b
) Mooy, Ao undevtond e Ieliorers Thamse Veg
\ecate  everond o ds  Qeretlny  Ae  Gelre un (X
e )
END OF PART B2
JrIBL...... B o
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